

Mr. Stacy Slawinski, PE June 9, 2021

County Engineer Project No: 008032
Fort Bend County Invoice No: 521009

Engineering Department 1517 Eugene Heimann Circle

Richmond, TX 77469

Fort Bend County PO#199020

Project Name: 2020 Project Management Services

Project No. 20001x,

Total contract amount \$1,000,000.00

## For Professional Services rendered from May 1, 2021 to May 28, 2021:

20203 - Bates Lane

## **Professional Personnel**

	Hours	Rate	Amount	
Project Manager				
Griffin, Jonathan	1.50	205.00	307.50	
Odreman, Gabriel	4.00	205.00	820.00	
Associate Engineer				
Richardson, Mark	11.50	130.00	1,495.00	
Totals	17.00		2,622.50	
Total Labor				8

2,622.50 \$2,622.50

20204 - Beechnut (17204)

### **Professional Personnel**

	Hours	Rate	Amount	
Project Manager				
Griffin, Jonathan	3.00	205.00	615.00	
Totals	3.00		615.00	
Total Labor				615.00
				\$615.00

20205 - Blueridge Road Widening

#### **Professional Personnel**

Hours	Rate	Amount	
2.00	205.00	410.00	
3.50	205.00	717.50	
7.00	205.00	1,435.00	
10.00	130.00	1,300.00	
22.50		3,862.50	
			3,862.50
	2.00 3.50 7.00	2.00 205.00 3.50 205.00 7.00 205.00 10.00 130.00	2.00     205.00     410.00       3.50     205.00     717.50       7.00     205.00     1,435.00       10.00     130.00     1,300.00

\$3,862.50

20206 - Sienna Parkway Intersections

Project	008032	Fort Bend County 2020 Mobility Bond		Invoice	521009
Professional	Personnel				
		Hours	Rate	Amount	
Project I					
Gri	ffin, Jonathan	6.00	205.00	1,230.00	
	eman, Gabriel	5.00	205.00	1,025.00	
Associat	e Engineer				
Ric	hardson, Mark	3.00	130.00	390.00	
	Totals	14.00		2,645.00	
	Total Labor				2,645.00
					\$2,645.00
20207 - Sienr					
Professional	Personnel	П	Doto	<b></b>	
Project I	Manager	Hours	Rate	Amount	
	reman, Gabriel	5.00	205.00	1,025.00	
	e Engineer	3.00	205.00	1,023.00	
	hardson, Mark	11.50	130.00	1,495.00	
Kic	Totals	16.50	130.00	2,520.00	
	Total Labor	10.30		2,320.00	2,520.00
	Total Labor				
					\$2,520.00
20208 - Tram	mel Fresno				
Professional	Personnel				
		Hours	Rate	Amount	
Senior P	roject Manager				
	lerson, Jeff	2.00	240.00	480.00	
Project 1	Manager				
	ffin, Jonathan	6.00	205.00	1,230.00	
Odr	eman, Gabriel	5.00	205.00	1,025.00	
Senior D	Designer				
	uhan, Nimesh	4.00	145.00	580.00	
Associat	e Engineer				
Ric	hardson, Mark	8.00	130.00	1,040.00	
	Totals	25.00		4,355.00	
	Total Labor				4,355.00
					\$4,355.00
0200 West	s Plantation Road				
Professional	rersonnel				
		Hours	Rate	Amount	
Project I					
	he, Cody	4.00	205.00	820.00	
	ffin, Jonathan	5.50	205.00	1,127.50	
	eman, Gabriel	7.00	205.00	1,435.00	
	e Engineer				
Ric	hardson, Mark	12.50	130.00	1,625.00	
	Totals	29.00		5,007.50	
	T . I T .				5,007.50
	Total Labor				3,007.30

20210 - Winkleman & Castlegate Dr

Project	008032	Fort Bend County 2020 Mobility Bond		Invoice	521009
Profession	al Personnel				
		Hours	Rate	Amount	
	t Manager				
	athe, Cody	2.00	205.00	410.00	
	riffin, Jonathan	4.50	205.00	922.50	
	dreman, Gabriel	5.00	205.00	1,025.00	
	iate Engineer				
R	ichardson, Mark	9.00	130.00	1,170.00	
	Totals	20.50		3,527.50	
	Total Labor				3,527.50
					\$3,527.50
20218 <b>-</b> Mo	pore (17218)				
Profession	al Personnel				
		Hours	Rate	Amount	
	iate Engineer				
R	ichardson, Mark	2.00	130.00	260.00	
	Totals	2.00		260.00	
	Total Labor				260.00
					\$260.00
Masterworl	cs				
Profession	al Personnel				
		Hours	Rate	Amount	
Projec	t Manager				
O	dreman, Gabriel	2.00	205.00	410.00	
	Totals	2.00		410.00	
	Total Labor				410.00
					\$410.00
Recap:		Current	Previous	To-Date	
Total l	Billings	25,825.00	72,474.22	98,299.22	
C	ontract Amount			1,000,000.00	
В	alance			901,700.78	
			Total Due Thi	s Invoice:	\$25,825.00
			IIII		\$20,020.00

Remit Payment:
RPS Infrastructure, Inc.
575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079
T: (281) 589-7257

Project	008032 Fort	Bend County 2020 Mob	ility Bond		Invoice	521009
Rillin	g Backup				Thomas	day May 27, 2021
	ructure Inc. (Live)	Invoice	521009 Date	od 6/0/2021	Thurs	day, May 27, 2021 4:50:42 PM
Kt 5 mmast	ructure nic. (Eive)	mvoice .	321009 Date	34 0/9/2021		4.50.42 1 101
Professiona	l Personnel					
			Hours	Rate	Amount	
Project Man	ager					
	6 - Griffin, Jonathan	5/13/2021	1.50	205.00	307.50	
	Site Visit					
	6 - Odreman, Gabriel	5/3/2021	1.00	205.00	205.00	
	Project scoping	5/10/2021	1.00	205.00	205.00	
	6 - Odreman, Gabriel	5/18/2021	1.00	205.00	205.00	
	Project review status for propos 6 - Odreman, Gabriel	5/25/2021	2.00	205.00	410.00	
	Fee Proposal review	3/23/2021	2.00	203.00	410.00	
Associate E						
	20 - Richardson, Mark	5/3/2021	2.00	130.00	260.00	
	Coordination with consultant fo	r scope documents and p	reliminary o	design		
	20 - Richardson, Mark	5/13/2021	1.50	130.00	195.00	
	Site visits and design considerate	tions for scoping and neg	gotiations			
	20 - Richardson, Mark	5/17/2021	1.50	130.00	195.00	
	Coordination with consultant as					
	20 - Richardson, Mark	5/18/2021	1.00	130.00	130.00	
	Coordination with City of Staffe 20 - Richardson, Mark	5/19/2021	r consultant 1.00	130.00	120.00	
	Review of proposal for services		1.00	130.00	130.00	
	20 - Richardson, Mark	5/25/2021	1.00	130.00	130.00	
	Review of draft proposal and co		1.00	150.00	150.00	
	20 - Richardson, Mark	5/27/2021	1.50	130.00	195.00	
	Review of draft proposal and co	omments				
	20 - Richardson, Mark	5/28/2021	2.00	130.00	260.00	
	Coordination with consultant for	r final proposal and appr	roval			
	Totals		17.00		2,622.50	
	Total Labor					2,622.50
						\$2,622.50
D						
Professiona	l Personnel		Hours	Rate	Amount	
Project Man	ager		110413	Tuite	imount	
,	6 - Griffin, Jonathan	5/18/2021	3.00	205.00	615.00	
	Review revised sheets that shift	sidewalk to the South				
	Totals		3.00		615.00	
	Total Labor					615.00
						\$615.00
Professiona	l Personnel					
			Hours	Rate	Amount	
Project Man	_					
	6 - Bathe, Cody	5/13/2021	2.00	205.00	410.00	
	Site visit to go over potential co		2.00	205.00	410.00	
	6 - Griffin, Jonathan	5/5/2021	2.00	205.00	410.00	
	Help draft a scope of work for 6 6 - Griffin, Jonathan	5/13/2021	1.50	205.00	307.50	
	Site Visit	5/15/2021	1.50	203.00	307.30	

Project	008032	Fort Bend County 2020 M	lobility Bond		Invoice	521009
	6 - Odreman, Gabriel	5/6/2021	3.00	205.00	615.00	
	Coordination for proposal	l				
	6 - Odreman, Gabriel	5/11/2021	2.00	205.00	410.00	
	Project visit	5/10/2021	1.00	205.00	205.00	
	6 - Odreman, Gabriel	5/19/2021	1.00	205.00	205.00	
	Project review status for p 6 - Odreman, Gabriel	5/27/2021	1.00	205.00	205.00	
	Follow up with consultan		1.00	203.00	203.00	
Associate E	•	t for proposar prep				
200000000	20 - Richardson, Mark	5/5/2021	2.00	130.00	260.00	
		tant for scope documents an			200,00	
	20 - Richardson, Mark	5/13/2021	1.50	130.00	195.00	
		siderations for scoping and	negotiations			
	20 - Richardson, Mark	5/17/2021	1.50	130.00	195.00	
	Coordination with consul-	tant as scope and proposal a	re finalized			
	20 - Richardson, Mark	5/19/2021	1.00	130.00	130.00	
	20 - Richardson, Mark	5/25/2021	1.00	130.00	130.00	
	Review of draft proposal					
	20 - Richardson, Mark	5/27/2021	1.00	130.00	130.00	
	Review of draft proposal					
	20 - Richardson, Mark	5/28/2021	2.00	130.00	260.00	
		tant for final proposal and a			2.062.50	
	Totals		22.50		3,862.50	2 9/2 50
	Total Labor					3,862.50
						\$3,862.50
Professiona	al Personnel					
			Hours	Rate	Amount	
	nager					
	nager 6 - Griffin, Jonathan	5/20/2021	<b>Hours</b> 4.00	Rate 205.00	<b>Amount</b> 820.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal		4.00	205.00	820.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan	5/20/2021 5/21/2021				
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal	5/21/2021	4.00 2.00	205.00 205.00	820.00 410.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel		4.00	205.00	820.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit	5/21/2021 5/11/2021	4.00 2.00 2.00	205.00 205.00 205.00	820.00 410.00 410.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel	5/21/2021 5/11/2021 5/20/2021	4.00 2.00	205.00 205.00	820.00 410.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p	5/21/2021 5/11/2021 5/20/2021 proposals and schedules	4.00 2.00 2.00 1.00	205.00 205.00 205.00 205.00	820.00 410.00 410.00 205.00	
	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel	5/21/2021 5/11/2021 5/20/2021 proposals and schedules 5/27/2021	4.00 2.00 2.00	205.00 205.00 205.00	820.00 410.00 410.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95	5/21/2021 5/11/2021 5/20/2021 proposals and schedules 5/27/2021	4.00 2.00 2.00 1.00	205.00 205.00 205.00 205.00	820.00 410.00 410.00 205.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95	5/21/2021 5/11/2021 5/20/2021 proposals and schedules 5/27/2021	4.00 2.00 2.00 1.00	205.00 205.00 205.00 205.00	820.00 410.00 410.00 205.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95 ngineer 20 - Richardson, Mark	5/21/2021  5/11/2021  5/20/2021  5roposals and schedules  5/27/2021  5/6/2021	4.00 2.00 2.00 1.00 2.00	205.00 205.00 205.00 205.00 205.00	820.00 410.00 410.00 205.00 410.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95 ngineer 20 - Richardson, Mark	5/21/2021  5/11/2021  5/20/2021  5roposals and schedules  5/27/2021	4.00 2.00 2.00 1.00 2.00	205.00 205.00 205.00 205.00 205.00	820.00 410.00 410.00 205.00 410.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95 ngineer 20 - Richardson, Mark Coordination with consultation	5/21/2021  5/11/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an	4.00 2.00 2.00 1.00 2.00 .50 d preliminary of 1.50	205.00 205.00 205.00 205.00 205.00 130.00 design	820.00 410.00 410.00 205.00 410.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 95 ngineer 20 - Richardson, Mark Coordination with consultation	5/21/2021  5/11/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021	4.00 2.00 2.00 1.00 2.00 .50 d preliminary of 1.50	205.00 205.00 205.00 205.00 205.00 130.00 design	820.00 410.00 410.00 205.00 410.00	
Professiona Project Mar Associate E	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consult 20 - Richardson, Mark Site visits and design cont 20 - Richardson, Mark	5/21/2021  5/11/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations	4.00 2.00 2.00 1.00 2.00 3.50 d preliminary of 1.50 negotiations 1.00	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultation with consultation of the coordination with LJA for Totals	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00 3.50 d preliminary of 1.50 negotiations 1.00	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultation of the consultation of	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00  .50 d preliminary of 1.50 negotiations 1.00 s	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00	2,645.00
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultation with consultation of the coordination with LJA for Totals	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00  .50 d preliminary of 1.50 negotiations 1.00 s	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00	2,645.00 \$2,645.00
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultation with consultation of the coordination with LJA for Totals	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00  .50 d preliminary of 1.50 negotiations 1.00 s	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultation with consultation of the coordination with LJA for Totals	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00  .50 d preliminary of 1.50 negotiations 1.00 s	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00	
Project Mar	nager 6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consultate of the consultation of th	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00  .50 d preliminary of 1.50 negotiations 1.00 s	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00	
Project Mar  Associate E	6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consult 20 - Richardson, Mark Site visits and design cont 20 - Richardson, Mark Coordination with LJA for Totals Total Labor	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00 3.50 d preliminary of 1.50 negotiations 1.00 s 14.00	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00 130.00 2,645.00	
Project Mar Associate E	6 - Griffin, Jonathan Review 95% Submittal 6 - Griffin, Jonathan Review 95% Submittal 6 - Odreman, Gabriel Project visit 6 - Odreman, Gabriel Project review status for p 6 - Odreman, Gabriel Plans review from LJA 99 ngineer 20 - Richardson, Mark Coordination with consult 20 - Richardson, Mark Site visits and design cont 20 - Richardson, Mark Coordination with LJA for Totals Total Labor	5/21/2021  5/20/2021  5/20/2021  proposals and schedules  5/27/2021  5/6/2021  tant for scope documents an  5/11/2021  siderations for scoping and siderations for scoping and 5/20/2021	4.00 2.00 2.00 1.00 2.00 3.50 d preliminary of 1.50 negotiations 1.00 s 14.00	205.00 205.00 205.00 205.00 205.00 130.00 design 130.00 130.00	820.00 410.00 410.00 205.00 410.00 65.00 195.00 130.00 2,645.00	

Project	008032	Fort Bend County 2020 M	Iobility Bond		Invoice	521009
	6 - Odreman, Gabriel	5/19/2021	1.00	205.00	205.00	
	Scope planning					
	6 - Odreman, Gabriel	5/21/2021	1.00	205.00	205.00	
	Project review status for	proposals and schedules				
	6 - Odreman, Gabriel	5/27/2021	2.00	205.00	410.00	
	Scope draft					
Associate E	ngineer					
	20 - Richardson, Mark	5/6/2021	1.00	130.00	130.00	
	Coordination with consu	ltant for scope documents an	nd preliminary of	lesign		
	20 - Richardson, Mark	5/11/2021	1.50	130.00	195.00	
	Site visits and design con	nsiderations for scoping and	negotiations			
	20 - Richardson, Mark	5/19/2021	2.00	130.00	260.00	
	Review of scope needs f	or Sienna Ranch and propose	ed improvemen	ts		
	20 - Richardson, Mark	5/20/2021	2.00	130.00	260.00	
	Scope compilation to ser	nd to counsulatant for safety	improvements			
	20 - Richardson, Mark	5/26/2021	3.00	130.00	390.00	
	Scope of services revision	ons and creation of proposals				
	20 - Richardson, Mark	5/27/2021	2.00	130.00	260.00	
	Review of draft proposal	and comments				
	Totals		16.50		2,520.00	
	Total Labor					2,520.00

**Professional Personnel** 

1 Tolessional	i ci sonnei				
			Hours	Rate	Amount
Senior Project	c c				
	30 - Anderson, Jeff	5/19/2021	2.00	240.00	480.00
Project Manag					
	6 - Griffin, Jonathan	5/4/2021	2.00	205.00	410.00
	Help draft a scope of work for o	lesign engineer proposal			
	6 - Griffin, Jonathan	5/10/2021	1.00	205.00	205.00
	Call with Berg Oliver				
	6 - Griffin, Jonathan	5/12/2021	2.00	205.00	410.00
	Develop Program Estimate for	Sidewalks			
	6 - Griffin, Jonathan	5/25/2021	1.00	205.00	205.00
	Meeting for Environmental Cor	ntract			
	6 - Odreman, Gabriel	5/13/2021	2.00	205.00	410.00
	2Project visit				
	6 - Odreman, Gabriel	5/17/2021	1.00	205.00	205.00
	Project review status for propos	sals and schedules			
	6 - Odreman, Gabriel	5/25/2021	2.00	205.00	410.00
	Environmental proposal review				
Senior Design	ner				
	14 - Chauhan, Nimesh	5/11/2021	3.00	145.00	435.00
	Exhibits - California St & Ever	green St			
	14 - Chauhan, Nimesh	5/12/2021	1.00	145.00	145.00
	Exhibits - California St & Every	green St			
Associate Eng	gineer				
	20 - Richardson, Mark	5/3/2021	1.50	130.00	195.00
	Compilation of scope documen files	ts and coordination with	consultant w	ith design	
	20 - Richardson, Mark	5/17/2021	1.50	130.00	195.00
	Coordination with consultant as			130.00	193.00
	20 - Richardson, Mark	5/20/2021	1.00	130.00	130.00
	Review of proposal for services		1.00	130.00	130.00
	20 - Richardson, Mark	5/26/2021	2.00	130.00	260.00
			2.00	150.00	200.00
	Scope of services revisions and	creation of proposals			

\$2,520.00

Project	008032	Fort Bend County 2020 Mobility Bond			Invoice	521009
	20 - Richardson, Mark	5/27/2021	2.00	130.00	260.00	
	Totals		25.00		4,355.00	
	Total Labor					4,355.00
						\$4,355.00

# **Professional Personnel**

		Hours	Rate	Amount	
Project Manager					
6 - Bathe, Cody	5/5/2021	2.00	205.00	410.00	
looked up information regarding pipeline to verify the size of each		project then cor	ntact each		
6 - Bathe, Cody	5/13/2021	2.00	205.00	410.00	
Site visit to go over potential con-	struction conflicts				
6 - Griffin, Jonathan	5/3/2021	2.00	205.00	410.00	
Help draft a scope of work for de		sal			
6 - Griffin, Jonathan Site Visit	5/13/2021	1.50	205.00	307.50	
6 - Griffin, Jonathan Review Proposal	5/27/2021	2.00	205.00	410.00	
6 - Odreman, Gabriel	5/5/2021	2.00	205.00	410.00	
Coordination for proposal					
6 - Odreman, Gabriel	5/13/2021	2.00	205.00	410.00	
Project visit					
6 - Odreman, Gabriel	5/18/2021	1.00	205.00	205.00	
Project review status for proposal	s and schedules				
6 - Odreman, Gabriel	5/27/2021	2.00	205.00	410.00	
Fee proposal review					
Associate Engineer					
20 - Richardson, Mark	5/4/2021	2.50	130.00	325.00	
Compilation of scope docs and ex	chibits and coordina	tion with consul	ltant		
20 - Richardson, Mark	5/13/2021	1.50	130.00	195.00	
Site visits and design consideration	ons for scoping and	negotiations			
20 - Richardson, Mark	5/17/2021	1.50	130.00	195.00	
Coordination with consultant as s	cope and proposal a	re finalized			
	5/18/2021	1.00	130.00	130.00	
Review of scope and utility direct coordination needs	tives with new infor	mation from fie	ld visit and		
20 - Richardson, Mark	5/19/2021	1.00	130.00	130.00	
Review of proposal for services of	of consultant				
20 - Richardson, Mark	5/24/2021	1.00	130.00	130.00	
Review of draft proposal and con	nments				
20 - Richardson, Mark	5/25/2021	2.00	130.00	260.00	
Review of draft proposal and con	nments				
20 - Richardson, Mark	5/28/2021	2.00	130.00	260.00	
Coordination with consultant for	final proposal and a	pproval			
Totals		29.00		5,007.50	
Total Labor					5,007.50

# **Professional Personnel**

			Hours	Rate	Amount
Project Mar	nager				
	6 - Bathe, Cody	5/13/2021	2.00	205.00	410.00
	Site visit to go over potent	ial construction conflicts			
	6 - Griffin, Jonathan	5/13/2021	1.50	205.00	307.50
	Site Visit				

\$5,007.50

Project	008032	Fort Bend County 2020	Mobility Bond		Invoice	521009
	6 - Griffin, Jonathan	5/19/2021	2.00	205.00	410.00	
	Review proposal from d	lesign consultant and provi	de comments			
	6 - Griffin, Jonathan 5/21/2021 1.00 205.00				205.00	
	Review proposal from d					
	6 - Odreman, Gabriel 5/7/2021		1.00	205.00	205.00	
	Coordination for propos					
	6 - Odreman, Gabriel	5/19/2021	2.00	205.00	410.00	
	Fee Proposal review	5/05/0001	• • • •	205.00	440.00	
	6 - Odreman, Gabriel	5/25/2021	2.00	205.00	410.00	
T	Fee Proposal review					
Associate I	20 - Richardson, Mark	5/3/2021	1.00	130.00	130.00	
	· ·	cation questions for consul		130.00	130.00	
	20 - Richardson, Mark	5/13/2021	1.50	130.00	195.00	
		nsiderations for scoping ar		130.00	193.00	
	20 - Richardson, Mark	5/19/2021	2.50	130.00	325.00	
		reating draft of comments			323.00	
	20 - Richardson, Mark	5/24/2021	1.00	130.00	130.00	
	Review of draft proposa		1.00	130.00	130.00	
	20 - Richardson, Mark	5/25/2021	1.00	130.00	130.00	
		ordination with CDGE for t		150.00	150.00	
	20 - Richardson, Mark	5/28/2021	2.00	130.00	260.00	
		ultant for final proposal and		130.00	200.00	
	Totals	20.50		3,527.50		
	Total Labor				,	3,527.50
						\$3,527.50
rofession	al Personnel		TT	Data	A	
Associate I	Engineer		Hours	Rate	Amount	
issociate i	20 - Richardson, Mark	5/13/2021	2.00	130.00	260.00	
		n for Missouri City meeting		130.00	200.00	
	Totals	i for Missouri City meeting	2.00		260.00	
	Total Labor		2.00		200.00	260.00
	Total Labor					200.00
						\$260.00
D Co	al Damanu al					
Totession	al Personnel		Hours	Rate	Amount	
roject Ma	nager					
	6 - Odreman, Gabriel	5/25/2021	2.00	205.00	410.00	
	Items upload and review					
	Totals		2.00		410.00	
	Total Labor					410.00
						\$410.00
						\$25,825.00
				Total this Report		\$25,825.00